
SAP ABAP table REPRDYNP_ITEM {Dynprofelder: Belegzeilendaten}

REPRDYNP_ITEM

BSCHL [CHAR (2)]

GSBER [CHAR (4)]

MWSKZ [CHAR (2)]

HKONT [CHAR (10)]

KUNNR [CHAR (10)]

LIFNR [CHAR (10)]

ZLSCH [CHAR (1)]

ZLSPR [CHAR (1)]

HBKID [CHAR (5)]

TXJCD [CHAR (15)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 REPRDYNP_ITEM-KUNNR = KNA1-KUNNR 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 REPRDYNP_ITEM-LIFNR = LFA1-LIFNR 
0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 REPRDYNP_ITEM-HKONT = SKA1-SAKNR 
0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 REPRDYNP_ITEM-MWSKZ = T007A-MWSKZ 0..N

0..N

T008

MANDT [CLNT (3)]

ZAHLS [CHAR (1)]
 REPRDYNP_ITEM-ZLSPR = T008-ZAHLS 

0..N

0..N

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 REPRDYNP_ITEM-HBKID = T012-HBKID 

0..N

0..N

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 REPRDYNP_ITEM-ZLSCH = T042Z-ZLSCH 

0..N

0..N

TBSL

MANDT [CLNT (3)]

BSCHL [CHAR (2)]

 REPRDYNP_ITEM-BSCHL = TBSL-BSCHL 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 REPRDYNP_ITEM-GSBER = TGSB-GSBER 

0..N

0..N

TTXJ

MANDT [CLNT (3)]

KALSM [CHAR (6)]

TXJCD [CHAR (15)]

 REPRDYNP_ITEM-TXJCD = TTXJ-TXJCD 

0..N

0..N


